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(1) FN 4 f3x2 —x—42 = (1) o (%#p.139)

()71 4 2 2x%y%2 +xy— 6= (2) o (#p. 147)

(3) 713" 4 2 12x7 + 5x° — 3x° = (3) o (¥ p.48)

DFN A3 12x2+ 13x(y— 1) — 141 —y)2 = (4) o (% p.50)

B)FF &35k 5 axth, 5 extd, P Ha 4 5 20x* +9x— 20,2 ¢ a~b-c~d ¥ i ik

F* atbtctd= (5) o (¥ p.49)

(6)f2= #238x? = =5x, Bl x = (6) ° (% .157)

(7) 22 Bl E+2)x—4) =70 x=__ (1) > (3% p.161)

8) f2* 25X Bx+2)2=x+2)%0x=__ (8 > (#%p. 163)

(9) & x> X2 +mx+n=025-5& 7 Knn= 9 o (#p. 164)
(10) 2~ 423\ x2 +—x—§=o,mx= (10) > (#p. 166)

(11) f#= et —(x—3)2=-5px=__ (D - (¥ p.58)

(12) 22 28 (x—2)2 = 2x— 1)(x—2), ] x = (12) - (¥ p.59)

(13) £x?2 ——x+k PrrxT N k= (13 > (3. 169)

(14) 2= #238x2+2x—1599 =0,f x = (14) > (3 p.173)

(15) £ 4253x2 —8x+1 =07 i* % (x + b)? = e3¢ » fbtc=___ (15) ° (3. 174)
(16) f&= #25%3x% — 2x = 4, B x (16) (3. 177)

(17) > &5x*+8x+m=07 f& > knpEE? ¥ (1 o (#%p. 180)

(18) % x e- % BN R L -34V2 > 2 B - X e 1, Rt 2825 (18)  »(kp. 180)
(19) 24 80 nd § & dx v ¥ 1 (xtD*, 25w 8=, plirEdEas s (19) ~o(¥ p.65)
0)E 512§ x =84 A 25— A BREF R PR 2600 %, w50 BB AEF R 6 kg, ik

R PR HG, PR EE L5 A 30 A, A FIE S (20) B2 o (¥ p.68)
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